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IBM P9510-020 : Practice Test

Question No : 1

A customer wants the most comprehensive view of their asset information with the ability to
drill down to the desired level of detail. Which IBM Rational Asset Analyzer interface should
they use?

A. RESTful

B. ISPF client

C. Eclipse plug-in
D. browser-based

Answer: D

Question No : 2

Which optional addon for the IBM Integrated Solution for System z Development simplifies
the modernization of applications with open source EGL technology?

A. Rational Team Concert Enterprise Extensions

B. Rational Application Developer for WebSphere Software
C. Host Access Transformation Services

D. Rational Business Developer

Answer: D

Question No : 3

Which Rational Team Concert feature enables a simple way of sharing change sets among
members of a team?

A. dashboards
B. streams

C. parallels

D. snapshots

Answer: B

Question No : 4
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Which tool integrates with IBM Rational Developer for System z to automatically provide
problem reports for diagnosing mainframe application ABEND errors?

A. IBM Rational Team Concert

B. IBM Fault Analyzer

C. IBM CICS Interdependency Analyzer
D. IBM Workload Simulator

Answer: B

Question No : 5

Which benefit do customers receive by adding Host Access Transformation Services to the
Integrated Solution for System z Development?

A. simplified development of Web 2.0 and SOA applications using EGL

B. green screen application modernization into web or mobile device interfaces

C. support for more programming languages when assets are scanned and analyzed for
relationships and dependencies

D. advanced collaborative and source control functionality from within a familiar green
screen environment

Answer: B

Question No : 6

Which programming language is used in approximately 80 percent of legacy mainframe
applications?

A. Visual Basic
B. C/C++

C. COBOL

D. Java

Answer: C

Question No : 7
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Which type of workload is most appropriate for the IBM Rational Development and Test
Environment for System z?

A. small team development
B. performance testing

C. production module builds
D. small-scale production

Answer: A

Question No : 8

Which two tasks can be performed from the Builds menu in the Rational Team Concert
Web UI? (Choose two.)

A. export a Build Report to PDF

B. load balance enterprise build processes
C. view the status of project build engines
D. view the details of build definitions

Answer: C,D

Question No : 9

Which IDE is used as the basis for the GUI in Rational Developer for System z?

A. Eclipse

B. Netbeans

C. Visual Studio
D. IntelliJ IDEA

Answer: A

Question No : 10

Which programming language is used most extensively on z/OS systems?
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